
Operations with Various Base Numbers (G)

Calculate each answer. Note: 0 (zero) O (letter).

100002
− 10012

26118
− 20248

A316)2D868016 123)1120213

8ICJ20
× 2820

223)2122013 4516)3A0C1116 GJHG20
− A83420

203)1221203 308)1605108 I420)97630C20 31578
× 758

110305
− 14405

223)1200103 21003
× 113

334)1131304

112005
− 44415

5812)28A0A012 11045
− 3105

3320)1A1IGB20
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Operations with Various Base Numbers (G) Answers

Calculate each answer. Note: 0 (zero) O (letter).

100002
− 10012

1112

26118
− 20248

5658

A316)2D868016

478016
123)1120213

22123

8ICJ20
× 2820

118F1C20

223)2122013

22223
4516)3A0C1116

D75D16
GJHG20

− A83420
6BEC20

203)1221203

22213
308)1605108

45438
I420)97630C20

A5GD20
31578
× 758

3041638

110305
− 14405

40405

223)1200103

12203
21003
× 113

1001003

334)1131304

12104

112005
− 44415

12045

5812)28A0A012

596612
11045

− 3105
2445

3320)1A1IGB20

9B1H20
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